DIvISION WITH A REMAINDER II (H - SET 3)

DIVISION WITH 1 TO 10 Name:
Time: Score: y—
181) 18934 = 4 = 196) 58063 — 7 =
182) 20142 + 10 = o 78573 +8 =
183) 24803 = 7 = 198) 61202 + 10 =
18) 5298 =~ 1 = 199) 11472 + 3 =
185 17604 =— 4 = 2000 23165 =5 =
16) 49754 =— 6 = 201) 25067 = 3 =
157) 5915 = 6 = 202) 23895 = 6 =
188) 14342 — & = 203) 26016 = 10 =
189) 4179 = 7 = 209 56177 =6 =
190) 45729 = § = 205 18070 =9 =
9) 313 =1 = 2060 5991 -5 =
192) 50492 + 10 = 20718340 + 3 =
193) 7963 + 1 = 208 81279 + 10 =
199 66989 + 8 = 209 9409 = 8 =
195) 951923 = 5 = 2100 39674 =7 =
Mathematics: Division - Level § - Horizontal - Set 3 8 culu
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